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Q.  Reference: Holyrood Accelerated Depreciation 1 

Please reconcile the difference in the numbers included in Footnote 57 on page 28 and the 2 

$32.2 million in Table 6. 3 

 4 

 5 

A. An update to footnote 57 was inadvertently missed. The correct numbers are as follows: “The 6 

forecast $32.2 million is comprised of $23.4 million of Holyrood TGS accelerated depreciation 7 

and $8.8 million of capital costs that may be required to be treated as operating costs because 8 

they are in service less than 12 months.” 9 


